TSTY T High Performance NC Rotary Table — Verucator rizont usage -

TABLE TRX320-TR400-TR500- TR630
TR series TLX250-TLX320-TL400

High performance range for machining
large work pieces

@®High rigidity for heavy cutting
@®Hydraulic clamping method
@®High accuracy i
@®Hydraulic clamping torque obtained
by pneumatic pressure via air
hydraulic booster. (TRX,TLX)
@®Rotary joint options available
@®Vertically and horizontally installed

type . L
\ Ll

e
®

@®Large thru-hole TRX320
@ \/ertical mounted motor R
@Rotary scale can be fitted to further

increase accuracy

* CE correspondence

Sample Application

AQOnly Kitagawa can offer this combination of NC Rotary Table
and chuck

A(Can be used vertically and horizontally. Left and right hand
versions available to suit machining area.



(ditagawa

TRX 320 H * * %

M signal specification

TRX

320 BV % %

Right hand: TRX
Left hand: TLX

B Air-Hydraulic(integrated air hydrauiic booster) Right hand: TRX
Left hand: TLX

H:Hydraulic

Table Size
TR:400-500-630

TR 400 H 2 % * %

Table Size Design No. Table Size Design No.
TRX:320 TRX:320 .
TLX:250-320 Motor type TLX:250-320 Quinte
specification
Type Clamping method Type Clamping method

B : Air-Hydraulic(integrated air hydraulic booster)

H:Hydraulic

TR 400 HV %=

T Design No.

Gear Ratio

Table Size
TR:400-500-630

1

Design No.

TL:400 2:1/180 Motor type TL.TU:400-500 Quinte specification
Type
Type Clamping method Right hand: TR H : Hydraulic
Right hand: TR B: Air-Hydraulic(external air hydrauiic booster) ~ Left hand: TL B : Air-Hydraulic

(external air hydraulic booster)

Left hand: TL H:Hydraulic Top-motor : TU
HESpecifications

Model TLX250 TRX320 TR400 TR500 TR630
Right hand X O O O O
Left hand O O @) @) X
Table dia (mm) ¢ 250 ¢ 320 ¢ 400 ¢ 500 ¢ 630
Register diameter on Face Plate (mm) & 105H7 & 135H7 ¢ 180H7 ®200H7 ®280H7
Spindle through hole diameter (mm) o778 ® 110 ¢ 150 & 170 ¢ 250
Centre Height  (mm) 180 225 255 310 400
Clamping method Air-Hydrauiic/Hydraulic | Air-Hydrauic/Hydraulic | Air-Hydraiic/Hydraulic | Air-Hydrauic/Hycraulic | Air-Hydraulic/Hydkauiic
Clamping torque (i (flemas 6 T 05Pa TR TL 0461Pay 1100 2600 2500 3200 4000
Motor axis reduced inertia (kg-m?) 0.00073 0.00085 0.0028 0.0028 0.0064
Servomotor (for FANUC specification) aiF 4/5000 | «iF 8/3000 | «iF 12/4000 | «iF 12/4000 | «iF 22/3000
Gear ratio (Decel. Ratio in M signal) 1,/90(1,/120) | 1,/120(1,/180) 1,180 17180 1,180

FANUC specification (min'")

33.3(3000min™")

25 (3000min’")

11.1(2000min-")

11.1(2000min’™)

11.1(2000min’")

Max. spindle speed

M signal specification (min'")

25 (3000min™)

16.6(3000min’")

8.3(1500min’")

8.3(1500min’")

8.3(1500min’")

Allowable work inertia (kg-m2) 1.95 448 10.00 18.73 49.62
Indexing accuracy (sec) 20 20 20 20 20
Repeatability (sec) 4 4 4 4 4
Mass of product (ke) 142 181 350 550 900
Manual Tailstock (as an option - P89 reference) TS250RN TS320RN TS400RN TS500RN TS630RN
Tail Spindle (as an option - P93 reference) TSR181A TSR181A-45 | Order production | Order production | Order production
RJ70H25D05 | RJ70H32K02 ) ) .
Rotary Joint (as an option - P97 reference) ) ) ) ) Order production | Order production | Order production
Hydraulic, Preumatic6-port |Hycraulic,/Pneumatic6-port
Horizontal (kg)
@ 250 350 500 600 1000
Allowable Load
Vertical (kg)
(ﬁ 125 180 250 300 400
F kN
) 21 26 32 50 70
Allowable load AL () $
(When clamped to table) 1600 2500 5000 8000 10000
FXL (N-m)
@ 1100 2600 2500 3200 4000
T (N:m) N
Allowable cutting torque @ 730 1000 1700 2600 5000

Note) 1. The switch for pressure checking is incorporated to all series except TC/DM of NC tables. 2. In case of air + hyd. clamp specification, the solenoid

valve for table clamp is incorporated. 3. Solenoid valve is not incorporated in case of hydraulic clamp method. Consequently, customer shall prepare it.
4. Neither cable nor hose is fitted between NC rotary table and machine tool... 5. In the port part on the table surface jig side of a rotary joint, TRX320
is fixed to the rotary table side, 6. Because a mounting pitch varies with the machines, refer to the pitch of the table spindle size drawing on P93.
7. Contact to Kitagawa about rotary joint and tail spindle of 400-size or more. 8. Each product mass is determined by a Kitagawa M signal spec.



TR
e series

TRX320:-TR400-TR500-TR630
TLX250-TLX320-TL400

HEDimensions [4th axis specifications]

Rc1/4
TLX250 Clamping air supply port
106, 210 (at spec. of air booster) Hex bolt
~ 69 (on back side) . 3-M12 Rc3/8 M16X70
© © z 15 / o Clamping air supply port 45
’% = 3-M69 = iz };19 (at speck of oil pressure)
RN Y =5 (on back side) =
= N = [N ﬁi ﬁj"
o H—F——® —— _
< L K DS TET L& ]
6-M8/_|| 2039 | | \Table surface/ |- @ afze — 14)ld T
209 ‘ o @ - L
- a@ Qeﬁ 4L ? ,ﬁ,
Thru-Hole Diameter 205 o 18nZ|_ ot 21] & 20 @
In mounting 149 | 160.5 &
the standard rotary joint 263 309.5 . .
581 Table T-slot Groove Clamping Device
TRX320(TLX)
Rc3/8 Rc1/4
Clamping air supply port \ Clamping air supply port In mounting
(at%pgc. of oﬁ?)r}:a‘s)sure) (at SESC- of air booster) 225 193 /ihe standard rotary joint
(on back side) (on back side) 45.5) Table surface Hox bolt
hal ; T o 3
o ( ) = = 14
«© e a’—'e
0 L J § R 3 s
| 9 I
< o Y —| % = B 5"
a = 3M6 /[ |45 pq||\8MS 25 | 2
°T |y Il oo
o & s 13 8 Table T-slot Groove
221
253
Thru-Hole Diameter Clamping Device
TR400(TL) 050 107
- = Hex bolt
o Q Table surface
N I
eV} o o o
I I e = _2 18
< < S N~ . =-e ﬁ
0 g 2 ,
[Te) I S N N~
3\ [T} © = i ©
g 8 2 iy ®
[ =| = A
ot 13 13 50 20| [ \&-M12
™| S NI iSAd S A
L245 #227 30 o
Rc3/8 Table T-slot Groove
Clamping air supply port .
(at spec. of oil pressure) Thru-Hole Diameter Clamping Device
TR500
250 1O7i Hex bolt
Table surface
N .E@ O S 70 ':|o\: ‘ M16><8045
& = -
o i o 3 1 T o 3 ke
B 3 & s H |8 " A
: = L0 B R
= ° 0 s—r L 14/ | |231=
] ’ # —— 6-M12 ~ |
o 87 3 8 @ 8 P 0 5
® ol = <\ 232 - T, S
260 203 245 Table T-slot Groove 2 a0
553 308 Rc3/8 Thru-Hole Diameter Clamping Device
870 Clamping air supply port
(at spec. of oil pressure)
TR630 ;
330 06 Hex bolt
B fﬂi Table surface 6-M12 M16X90
° M 60
(Lo}
® O - - 18 A fas}
o ~ JZ2 B
8+ J8 o alee ™, o] 4]
3 Q T ro| N | ¥ 1
o © 9 S| Q| e ® s ﬁﬁ
< - =
| 19| 26| —
30| & <
j 75 2g:L %0 6 R
~ - ap
279 Table T-slot rooveﬁ ]
: 3 30
Thru-Hole Diameter & 91“ L Clamping Device
- - % The above outline dimensions are shown with FANUC motor specifications.
Clamping ?lf,lsUPpW port " Those dimensions may vary from motor to motor that is mounted.
(at spec. of oil pressure)  TR.TRX : mator position on Right Hand side.

TL-TLX : motor position on Left Hand side.




(ditagawa
HEDimensions [Kitagawa own controller] sThe dimensions may vary from motor to motor that is mounted.
TLX250

Rc1/4 3-M12 15° Rc3/8 Hex bolt
Clamping air supply port ~_.,Clamping air supply port
N 69, 210 (at spec. of air booster) "3;30 7 Q| (at spec. of oil pressure) M16X70 ’(%
oo} ~V
z 0 3MeQ =4 _
~ 2 / - N gjtj E: <
i o - —
pay I __ || N | O © I '}
g 2l "E— Q Y- —)Eg,) 12 ] ‘_1‘\
1 B o T = 14 4 +
6-M8/ |20 39 Table surface ‘ﬁ_ﬁ f © yggt j
L E p— ,,Qg,
209 s @ﬁ‘ <l 18h7j|_of o e
205 149 | 1605 ©
In mounting 220 309.5
the standard rotary joint 539 Table T-slot Groove  Clamping Device

Thru-Hole Diameter

TRX320(TLX)
Ret/d
Clamping air supply port
Rc3/8 (at spec. of air booster) 205 45.5 In mounting
§ Clamping air supply port the standard rotary joint

Hex bolt
v ¢ (atspec.of oil pressure)

Table surface

e ® A /M16X75,_4
o I~ o & i
o vl N i — 14 C
— D — — — ‘)’—'e @ o
w| § — - E e 7 Elrv i —— mjl\;![ J
0 e % 'L 777;\L51‘ ‘ 32:‘4‘;
N —1 5 == P 14 i
S gy R D gmg 25| ¢ |
P - 45 20 R
g iz 13] 8l 004 Table T-slot Groove B
221 30|
Thru-Hole Diameter . .
Clamping Device
TR400(TL)
% Hex bolt
§ Table surface 2 3 M16X80 H
o N N
0| 3 g - £ o
< < | e o L1 o~
o ® Iy
& | 7 Ne1 J 2
° { 6-M12 Mi2 b
o = 5 50 20| M T
» 250 ™
PP 227 | Table T-slot Groove Ej
™ 45 | Thru-Hole Diameter ®| |30
430 317 61 J—L
o Rc3/8
Clamping air supply port Clamping Device

(at spec. of oil pressure)

TR500

250
= Hex bolt

7 H 6-M12
o ©) \° | °/
Q ° ° Table surface
o ° ° 8 1 € -
. — - = [e0) i R
I : B2 7 s | [ (gl
4 N R = L M
«® g 7°1°Y ° = R \n\ A i 7—1‘ 2 14 ‘23 -
SRR 3| %% Fosg | ko -
o) 0 30 | —
ol |17 mg—g @rem 232 @}
245

[l
Thru-Hole Diameter  1@0le T-slot Groove || o3
553 300 61 Rc3/8

923 Clamping air supply port Clamping Device
(at spec. of oil pressure)

%TR - TRX : motor position on Right Hand side. TL - TLX : motor position on Left Hand side.
3 Contact to Kitagawa on TR630 with MAC mini i Series. Kitagawa about M signal spec. of 630-size.




